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e 1d) (5 points) How rapidly is the total energy associated with
the capacitor changing? How does
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2) What happens when a thin lens straddles two different media? To find out, let’s examine the case of the
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e 2a) (10 points) Write a set of equations relating object and image dmtancestothalrmpacma . . |
surfaces (that is, p; and ¢; to R;; p2 and g2 to Ry). “&itemadditinnnlequatm:{rehtmgtheuuﬁal The water has an index of refraction ny, = &, the glass has an index of refractic n,mimdthl
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q;) in this equation, but not both.

If Sushi is located a distance § away from the tank wall, where will mmmqrm
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